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Anatomy - lecture (10)

1. *One of the following structure is deeper than platysma:
A- External jugular vein.
B- Anterior jugular vein.
C- Internal carotid artery.
D- Internal jugular vein.
E- External carotid artery.
Answer: A
2. Thyrohyoid muscle supplied by which cranial nerve :
A- Cl.
B @2
C- C).
D- CA4.
E- C5.
Answer: A
3.* Styloid process give attachment for all of the following
except
A - Stylomandibular ligament.
B- Stylohyoid muscle.
C- Styloglossus muscle.
D- Stylohyoid ligament.
E- Stylolaryngeus muscle.
Answer: k
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4.0ne of the following is wrong about infrahyoid muscles :
A- The four infrahyoid muscles are : sternohyoid,
sternothyroid,Odontoid and thyrohyoid.
B- All muscles supplied by ansa cervicalis except thyrohyoid
only by CI.
C- Sternohyoid muscle depresses the hyoid bone.
D- All muscles are innervated by vagus nerve.
E- Sternohyoid muscle attached to the back of medial part
of the clavicle.

Answer : D
5.Content of the Carotid sheath except :
A. Internal carotid artery
B. Common carotid artery
C. Vagus nerve
D. Internal jugular vein
E. Sympathetic trunk (chain)

Answer:
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6.During a surgery, the hypoglossal nerve is resected after it
recieves Cl with its coarse, which
muscle is predicted to stop from working?
A) sternothyroid
B sternohyoid
C) superior belly of omohyoid
D) inferior belly of omohyoid
E) thyrohyoid
Answer:k




